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w oo | one | SO mr [1nossdr| BT |isoseme | US| N EISN | o eatsine 130 2001 49)
1339 92.77%| 1,116 1,239 123 1,320 204 81 O1tEH30m Do — A
203U | 4.79%| 1,463 1624 | 161 1,727 | 264 103 BAT | 1198 | soEs s 180 | s A 18{}:{;’%
ol s | 2530 | 160w 2,085 | 2314| 229 2464 | 379 150 4,402| 4886 484] 5202| 800 316
e ﬁ 203U | o056%| 5028 | 5581 553 5929 | 901 348 | | FE 184 800
ol 4| 5030 0.22%| 7,738 8,589 851 9,130 | 1,392 541 O1tEH49m D — A
- 753U | 0.05% 18,590 | 20,635 | 2,045 | 21,934 3,344 | 1,299 R e e I
i 1003U | 0.01% 31,460 | 34921 | 3461 | 37125| 5 665 2, 204 7482 8307 825 8832 1,350 525
9~20mi| - 155 172 17 183 28 1| | F 525 1,350
(5=
21m~ - 170 189 19 200 30 11
133V - 545 605 60 643 98 38
NE RS - 603 669 66 711 108 42
x ﬁ 253V - 842 935 93 993 151 58
il,%"i & | 4030 - 2,284 | 2535| 251 2695 | 411 160
& 503V - 4,683 | 5198| 515 | 5525| 42 327
PER| 1mi~ - 48 53 5 56 8 3
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WEA A=

(BiA 2/ B B4 )

EEE

o i 4 1339 30m 133V 49m
e i kb i kb
1 LT 6,280 AL T 10,650
2 BT 5,709 BT 9,889
3 AR 5,522 (U S 9,102
4 FBr 5,511 FBr 8,962
5 e A A3 5,444 18%ci e B A Th 8,832
6 B o i i 5,280 (AR iF) 8,695
7 18%ci e B A Th 5,202 T 8,336
8 R 4,980 11%BE R AT 8,307
9 Lo 4,916 R 8,298
10 11%BE AR AT 4,886 L Rigin] 8,280
11 ZE A 4,850 SRS 8,263
12 B T 4,752 Zsti 8,170
13 T 4,726 Y i 7,970
14 /NEETH 4,620 AN 7,645
15 fRE™ 4,402 fRE™ 7,482
16 FAATT 4,300 EHTH 7,110
17 EHTH 4,184 KHT T 7,106
18 KT 4,180 FAATT 7,030
19 [i] 4 T 4,048 L odiil 6,308
20 il 3,905 [i] 45 i1 5,561
21 S 2,835 S 5,402
BT R 4,760 7,908
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